
 
 
 
 
        BOTTOM PLOW MOUNTING INSTRUCTIONS 
                           YAMAHA KODIAK 450 
                                PART# 4501-0628 
 
 
 
 
Remove the middle plastic skid plate. 
 
NOTE: You may keep this on machine but you 
Will need to align and mark the skid plate on 
Where the U-bolts will need to come through  
And mark it and drill holes. 
 
The push tube mounting tabs will go toward the  
Front of the machine. 
 
Attach to floor board supports as shown in picture. 
Use the #3 U-bolts on the front floor board support 
And the #2 U-Bolts on the rear floor board support. 
Use the 5/16 washer and nylock nuts to secure down. 
 
Once the mount is all aligned and in place tighten 
The U-bolts securely. 
 
After you have plowed a few time go back and check and 
retighten the U-bolts to make sure they 
Are staying secure. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                   Question or Comments Call 320-964-1616 7:00 to 4:30 CST Mon. – Thur.                                     INST2813PF 

ITEM QTY. PART# DESCRIPTION
1 1 2813-100 Bottom Plow Mount
2 2 HDW2406 5/16 x 2 x 3 U-Bolt
3 2 HDW2054 5/16 x 1-1/4 x 2-1/4 U-Bolt
4 8 HDW9002 5/16 Flat Washer
5 8 HDW7058 5/16 Nylock Nut


